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RED HERRINGS
Which is the correct meaning of each word?

1   MINIUM
A   The least possible
B  A small bee
C  Red lead

2   MINIVET
A   A brightly coloured shrike
B   A trainee animal doctor
C   White fur

4   MIOMBO
A   A small elephant
B   Deciduous woodland in East Africa
C   A toy reed pipe

3   MIN MIN
A   A raincoat made of hemp
B   A Japanese guest-house
C   A will-o’-the-wisp, in Australia

5   MIREPOIX
A   A pea similar to the mangetout
B   Sautéed, diced vegetables as 

a sauce-base
C  A small yellow plum
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